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Lesson 3-6 Write Linear Equations

1. 'Which of the following equations is in point-slope form?

Ax-8=7(py-1) B.y=6x-2 4.) What form? SLOPE-INTERCEPT!!
C.2x-3y=6 D.y-2=3(x-5)

2. Write an equation in point-slope form for the line that passes through (3, 5) with a slope of 1. (2 4) & (4 5)
Ay-5=1(x+3) B.y-5=—(x-3) ) ?
C.y+5=1(x-3) D.y-5=1(x-3)

3. Write an equation in point-slope form for the line that passes through (6, —4) with a slope of —4.

A.y+4=—4(x+6) B.y+4=4(x-6) g2‘yl/X2‘Xl
C.y+4=-4(x—6) D.y-4=-4(x-6)

4. Write an equation in slope-intercept form for the line that passes through (2, 4) and (4, 5). / _ /
A.y=x+3 B.y=x-3 C.y=x—§ D.y=§x+3 5—4 4—2 = ( 2

5. The cost of taking art classes is shown in the table. Write an equation in point-slope form to

m=1/2

represent the cost y of attending x art classes.

"t | cow 4=l/221+b 4

T | w 2/2=] -

A.y-75=15(x-5) B.y-15=75(x-5) C.y-75=5(x-15) D.y-5=15x-175) b 3

y=1/2x+3

3) What form? POINT SLOPE! (6, -4) with a dlope of -4

y-yl=m(x-xI)

y-(-4)=-4(x-6)



Unit — 6 — Chapter 3 — Lesson 5
Graph a Line Using Intercepts
Slope-Intercept Form (pg.210

-The _ X-intercept of a line is the x-coordinate of the point where the graph crosses the

X-axis. :
e Tofindthe X - mﬂ%r@epf ,lety= 0
e Tofindthe Y - intercept ,letx= QO
Standard Form (pg. 211) '

A x+ By=0

Unit — 6 — Chapter 3 — Lesson 6
Write Linear Equations
Point-Slope Form of a Linear Equation (pg.222)
Equation:
y-

e )
** The point-slope form of a linear equation is tied DIRECLY to the definition of slope.

Y2
X2—Xy

=m

**You can write an equation of a line in POin’f - 9[0p9 form when you are given the
dlope  andthe coordinates of a point on the line that is NOT the Y - _intercept




Unit — 6 — Chapter 3 — Lesson 7
Solve System of Equations by Graphing

Systems of Equations (pg. 234) Q
Two or more equations with the same set of variables are called a 98“3”\ of

equations
Number of Solutions . 236

e Ifthe lines intergect , there is ONE solution.
e Ifthe lines are Paraue[ , there is NO solution.
e If the lines are the game , there is an mﬁl’\H’Q nu mbgr Of solutions.

Slopes & Intercepts(pg.23
e Different slopes & y-intercepts, there is__ ON€  solution, and only _ON€  solution.
e Same slope & different y-intercepts, there is NO  solution.
e Same slope & same intercept, there is an inﬁni’re number of solutions.

Unit — 6 — Chapter 3 — Lesson 8
Solve System of Equations Algebraically

Solve a System Algebraically (pg.244)

Subetitution is an algebraic model that can be used to find the exact solution of a system of
equations.
Slope-Intercept & Standard forms:
**Sometimes one or both equations are written in standard form.

When solving a system by gubstitution , one of the equations should be solved for either x or y.




2. Peter makes $6 an hour raking leaves and $8 an hour babysitting. L:iis{\;/;aék, he earned $100
working 15 hours. Solve the system by substitution to find the number of hours he working
babysitting and raking leaves.

r+b=15
6r + 8b =100

A. Raking leaves: 8 h
Babysitting: 6 h

B. Raking leaves: 6 h
Babysitting: 8 h

C. Raking leaves: 10 h
Babysitting: 10 h

D. Raking leaves: ¥h [Oh
Babysitting: W h 5h



